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WEST BENGAL STATE UNIVERSITY
B.A. Honours Part-III Examination, 2020

PHILOSOPHY
PAPER-PHIA-VIII
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfeE T F0Z TN Q"Y/VW fac e
Candidates should answer in their own words AR e ©IRNF I ST XA N
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

GROUP-A
(Full Marks-25)
eta-5
(AF-2¢)
Answer any one Optional Paper

@A-@FA 915 foes 4tad Ted nie
(Vedantasara | (IWSAIR)

Answer Question No. 1 and any one from the rest
S R EH € SR (A-(FIE 96 2T Ted e

1. Answer any two questions from the following within 150 words each: 5%x2=10
fesferfis Q- 7fo @ T efo seo *itwa e wies

(a) What is the distinction between Prajna Caitanya and Turiya Caitanya?

2 (5o € QR (oA W AL F 9
(b) What is ‘anubandha’?
o {9
(¢) Distinguish between Jivanmukti and Videhamukti.
Gl @ Koo s 7 faefa e
(d) Distinguish between Vastu and Avastu.
L @ S W 2L A |
(¢) What is Nimitta Karana?
e Fige i 9
(f) Distinguish between Parinama and Vivarta.
S{fgesl @ Rarea Ty A< T
(g) Distinguish between Swarupa laksana and Tatastha laksana.
HEho! o @ WO ST W 2L T
(h) Distinguish between Savikalpaka and Nirvikalpaka Samadhi.
TReee ¢ s i ey i @
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2. (a) What is meant by ‘Tatparya’ of a sentence? 5+10
AR AT FoiCe F @RI 2

(b) Explain the six marks through which tatparya can be determined.
wlesicda Tl =il focee sifva wie

3. (a) Explain the means of attaining nirvikalpaka samadhi. 11+4
fffes=s TfEeIced Sotrmz i Sl
(b) When does a yogin attain nirvikalpaka samadhi?

Ny U [WETaT TN 21 27 9

4. What are Sadhana Catustaya? Explain in detail any one of them. 4+11
A TR F Fl 9 @-CFICA! oA HIBI S FCA |

5. Define Ajiana and discuss the significance of each of the components. 15
G T WG | SRS A (B And AL ! SICEbl Sl |

(Ryle / 912eT)
Answer Question No. 1 and any one from the rest within 600 words
SR & € TR (I-(FIA GF 6 ATeA T Yoo [ W WS
1. Answer any two questions from the following within 150 words each: 5%x2=10

fsffie @-@it 7fo e Tea affsfb seo =t g wies

(a) Give a brief account of Ryle’s theory of self.
ATET WL O0gd TR e 3¢ s |

(b) What is ‘Category mistake’ according to Ryle?
20 0o ‘@A AN FICF A 2

(c) What is meant by ‘single-track’ and ‘multi-track disposition’?
QPR @ JEY 2] I | (@R 9

(d) What are the two types of explanation, according to Ryle?
AT 0O Y2 AT A1 F 9

(e) Give a brief account of Descartes’s Mind-body theory of Interactionism.
rpICeq (-4 fRfErRmita R fEFe e we)

(f) Explain briefly after Ryle, what is “dispositional statement”.
AT (F PR I 2RSS AR RS 17t whe |

(g) Explain briefly the concept of volition, after Ryle.
AT -(F TP FCF @& DFel FREFHCo SNEB A |

(h) Discuss, in brief, the notion of ‘retrospection’ in relation to self-knowledge.

SIS (2O “oMpIemite’” oM v T |
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2. Distinguish between knowing-how and knowing-that. Is intelligence a kind of 10+5
knowing-how?

(I3 Tl @ B SR T AL S | I 6 (T @i 9 — i<yt Sl

3. Enumerate the nature of Consciousness, after Ryle. 15
AT PR IR (GO Tl S FCl |

4. What is the difference between Voluntary and Involuntary actions, according to 8+7
Ryle? State Ryle’s arguments against Cartesian notion of volition.

AT o, Gfves @ Sl fER e 21F Il 92 2P e]fe IREFE FIeGIy

HRelR et Ai2eT & D= el

5. What does Ryle mean by ‘intellectualist legend’? How does he criticise this 5+10
legend with the analogy of the dogma of the ‘ghost in the machine’?

(A FTATA 6700 A2 F JRICCRA ¢ TE-3KGE O TN AR A2 FOIE @31
Rifael sEee 9

(Logic / S {awp)

Answer Question No. 1 and any one from Section-I or Section-1I
YR P SRMAF, CRTIS de-d TAF AB-3 (ATF F-(FA IF6 2tid Teq wie

1. Answer any tow questions from the following: 5%x2=10
fefeiie @-iat 7f5 et Ted wiss
(a) Prove that there is one and only one empty set.
2l P @ X7 @A @6 GR FIEAG GF02 |
(b) Explain the difference between 4 U B and 4N B using examples.

TWZITTE. AU B @32 AN B -a3 N4 F

(c) What is counter example? Give an example.
QT EIE BICP A0 ? QP Srizgel wis |
(d) In the following example decide which of the following statements are true:

e vz cwg e @ [T srerel el weats
AeB AcB A=B.

A = the set of positive integers.

B = the set of positive and negative integers.
A = I I G0

B = <% @ 7T IR (16 |

(e) Show, how the truth tree method can be used to test consistency of statements.

oM 2ERod MBI Freid A 7ol [efa Fa am e |
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(f) Give an example of two sets, A and B such that A is both a member of B and
subset of B.

% % A @R B-93 @3 @I wBE W€ @AH A B-93 W7 € @2 A Tl
(subset)!

(g) Discuss briefly the paradoxes of C.I. Lewis’s theory of entailment.
2 T C.1. Lewis-d9 TOAICR FOIOI TR SCEb 0 |

(h) Explain the relation of transitive, intransitive and non-transitive with example.
FRENF, TRFNE G RGN 795 Srizgel FLCACA T S

SECTION-I / 9&-5

2. (a) Translate the following sentences using set theoretic notation: 3
ke A el @ FHre T s
(i)  Apples and oranges are fruits.
HCCT 8 FAEICET (T e |
(i) All are not saints who go to the church.
N N A O TR, AY e =17 |

(ii1) No witness is both sane and a liar.

CPICA! ATFIR 9N &% @ =it =2
(b) If 4={l, 2,3,4}, B={2,4,6,8}, C={3, 4,5, 6} then find out the following 242
sets:
A A={l, 2,3, 4}, B={2,4,6,8, C={3, 4, 5, 6! W, o fxleiiie chHaf
BI&IE
(i) (AduB)~C (i) (B~A)N(A4~C)
(c) What is complimentary set? 2
AT GI6 S 0T 9
(d) Which of the following statements are true? If false, give counter example. 2

e qerefm S @mef e ¢ 3 @il el 23, siee Kiea r2e e
(i) fAe BandBZC,thenA¢ C

IMMAe B4RB £ C &, @A ¢ C
(i) FAcBandBe C,then A ¢ C.

IMACBORBe C,O@A¢ C|

(e) Give the different forms of the relation ‘included in’ and distinguish the different 4
forms with examples.

segied wHEd [Rfon sierel @l ek 1Be TR 2 SeReliE S Al
ferzholel A |
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3. (a) Let A = {Madison, Pickney, 2}, R = {< 1, 1 >, <Madison, Pickney>, <1, 2 >}
then classify the relation according to the properties they do or do not have
(eg-reflexive, symmetric, not asymmetric, not transitive etc.).

Im A= {Madison, Pickney, 2} @R R = {< 1, 1 >, <Madison, Pickney>, <1, 2 >}
2%, O 4% Al property-3 fofers @2 79% 147 S

(b) Test the validity of the following argument by Venn diagram:

(bCER R IEH (Aol RolR T
All witnesses are prejudiced.
Some witnesses are not liars.
.. Some liars are not prejudiced.
e] AFRPIAIR FAHEIRE |
fog F1 =il =11
.oy =it oS 1|

(c) Test by Venn diagram whether the following propositions are consistent or not:

ceAibead AR e el wkafeoe [ waies

BNnC=A
(ANnC)~B=A
(ANnB)~C=A

ANB)UANC)UBNC) £A

SECTION-II / 9€-3

4. (a) Use truth-tree method to determine the validity of the following sentence:
O 2o ARG Ao Awyioa (et foefa weaits
(Ju) (Lxx)— (3x) (Fy) Lxy.

(b) Use truth-tree method to show that the following two sentences are logically
equivalent:

TPl “rafed R e gt 3w (@ifes s [l mares
(3x) (PxxQx),(3x) Pxv (Ix) Ox
(c) Test the following arguments for validity by Truth-tree method:
oIl “aiod AR fWHlere Jewf @aet [Rok wis
Even if it rains, we will swim. Therefore, we will swim.
32 Zrare Wl o SN, oAk St o FHet |
(u) (x) (XTm > uTm)
— uTm/ .—(3x)xTm.
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(d) Use truth-tree method to show that the following sentence is a logical truth:

eIl SIwfed ARG Nos AW B Wy (@i smifer wares
(3x) (Px v QOx),(3x) Pxv (3x) Ox

Discuss fully the relation between philosophical logic and mathematical logic.

e el azk stifafes Ffeimm Swg #i1de TR SieEs St

(Practical Vedinta / TJIQEF @)

Answer Question No. 1 and any one from the rest within 600 words
S T e 8 AR (A-CHIA 415 SATHF TEH Yoo A N WG
Answer any two questions from the following within 150 words each:
feaferie @-ceiel 7f6 @ess T ol Seo *Itwa ey wies
(a) Explain the notion of ‘morality’ after Vedanta Tattva.
@AMIEg SePrael T TAfeTora LIeli’ i S
(b) Is Advaitavada contradictory to Dvaitavada?
SEedw & taeit R o

(c) Is the state of Advaita merely an ideology or can it be attainable? Discuss
according to Vivekananda’s Vedanta.

7S O [F (@<e-2 e, 9 T @S @ S i3 #ie FA0e 2@ ¢ [REF e
(@RS SEe FCE @Al

(d) Why do the notion of ‘Eternal Heaven’ and °‘Eternal Hell’ stand self-
contradictory according to Practical Vedanta of Swami Vivekananda?

N R JRRe @ e 5 @R G 966 -G QNS (T FReER
e 2ACR 9

(e) What is ‘Aparoksanubhuti’ and how can it be attained? Briefly state after
Vivekananda.

FARMFIYSS’ F ¢ FIOIA ©f 7l T4l AW 9 REIHANCP SPiRel I IREFC [l
N

(f) How are Atmavada and Nairatmavada reconciled in Advaita Vedanta?
SAS(AVICE FIOI SR 8 (AR Ky AN FA ZCACE 2

(g) What is I$vara according to Vedanta? Discuss briefly after Vivekananda.
@WICS 583 1 9 RIFTCP S0l TR TR 1 I

(h) Briefly explain after Swamiji’s Practical Vedanta, ‘the ways of winning
weaknesses’.

TG IR @I SPie FE Yol T FA G FHCH IR J17 I |

How can Vedantic theory be the basis of ethics? Explain after Swami
Vivekananda.

ifes oy Frel (ieFela fofE 2o 7 ¢ T [EPTS SEpRd F SNeETna
I
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3. Explain after ‘Practical Vedanta’, — the real nature of man. How is the concept of 10+5
self-sacrifice deduced from the nature of man?
2T @M PR AR a@F© FTF9 F — ©f P IR WR 2P @*@F
SR 7ol ST W89 2R 9

4. Explain how the anecdotes of Satyakama and Upakosala of Chhandogya 15
Upanisada indicate the Practical Vedantic view.

Qe SANITR TN IR TARHET Fife ¥ Frei@ 2Alifae [@wifes a6l
fo0! FC3 ol 1 S

5. Explain ‘the ideal of Universal Religion” after Vivekananda’s ‘Practical Vedanta’. 15

REFAR 2N @@ SPRel T Rrseraie (08 Sl * I/ D S|

(Dharma : Rabindranath Tagore / €% : I J1F)

Answer Question No. 1 and any one from the rest within 600 words
SR &Y 8 AR (F-(FICA! GF15 ST T Voo *THA T WS

1. Answer any two questions from the following within 150 words each: 5%x2=10
fesferfis @-iel 7fo @ T efo seo *itwa e wies

(a) Explain the concept of Brahma-Vihara after Rabindranath.
G IACP S PCH TR el Resrzed

(b) What is the way to overcome sufferings recommended by Rabindranath Tagore in
his essay “Prachin Bharater Ekah”?

V24T AN FAIF (FIF AL T TG I ©fF “eliblq OIRres 955> e[
fwce ¢

(c) Discuss in brief, after Rabindranath Tagore the two aspects of human nature.
AL S B A 2Ffod 76 s IREFHC SAEH T |

(d) What does Tagore mean by ‘freedom’?
FATe! <wTCe TRewIe F IR 2

(e) How does patriotism become an obstacle for humanity? Discuss briefly after
Rabindranath.

(HICEIN FIOIE MO TSN 2 9 ANHNAE TP TR FKCHC I FCN |

(f) “Actually acceptance and rejection, bondage and renunciation—both are equally
true”— Explain in brief after Tagore.

“TES AT QR G, I G (TN, FI6E TN H0)”” — INAAILE SPrael FC FRHCA
AT AN
(g) How does Rabindranath Tagore explain the four Asramas?

AT FFF FSI GGARCE 1 FCICR 9
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(h) Briefly discuss different senses of the term Duhkha following Tagore’s essay

‘Duhkha’.
AT G2 2 2 S B Y2027 Req @l FREw0o Seoel S|

Which one is the day of festivity for human beings? Explain elaborately after
Tagore’s essay ‘Utsaber Din’.

R TNRA el (I 2 FNHNRF TR ey’ el Srepricel Reifae SAcsa w1

How does Rabindranath explain the diverse nature of the universe in his essay
‘Prachin Bharater Ekah’?

AT FISIE ©iF ‘B ORTed UFs’ 20 [Ree7 (v I FEEs ¢

Explain the concept of ‘genuine prayer’ following Tagore’s essay ‘Prarthana’.

AN 2N 27T SpRel I AL AT @@ NS i St

Critically explain Rabindranath Tagore’s view on individualism following his
essay “Tatah Kim”.

ALY FFER ITE FOTAW O To 2 b 2% Sl I [RORIESF iy FC |

(Communist Manifesto / FTNEfP5 ITEE0)
Answer Question No. 1 and any one from the rest within 600 words
SR & € TR (I-(FIA 936 ATeA Ted Yoo I A WS

Answer any two questions from the following within 150 words each:
fesferfie Q- 7fo e Tea ol seo *twa ey wies

(a) Explain the nature of family according to Marx and Engels.

T 8 A SPiel FCF ARAIEE 2Ffe 39 T

(b) How is manufacture different from machinofacture?

“TFIPBIR’ -7 A0 (TR IFOIE ATSw F 9

(¢) How do Marx and Engels criticise feudalistic socialism?

TEH G2 (T STOIE AT FF FNCOCT HANCETo! FCACR 9

(d) What is meant by ‘forces of production’?> What are the relations between

production and forces of production?
“Teoiiwe *f&” IT00 F @IANT 9 TLANT TG A G =G 7oR:E ) 2

(e) Explain the revolutionary character of Capitalism.

offeraica taafRes B T

(f) What is the main factor of social change?

NG AT 1 PiReif F 9

(g) Explain, in brief, the historical evolution of the proletariat.

3089
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2. “The history of all human society, past and present, has been the history of class
struggles”. — Explain.

“TTOTG R TSI, FN WK 2oL 2oT AR o217 — [ T

3. Elucidate the main differences between Utopian Socialism and Scientific
Socialism.

PiEferr @ (eIl FTTrerad o sy afer 30q st

4. What, according to Marx and Engels, is the International task of the working
class today?

WA 8 TR 0o &N @A TN WIS [OF o) Fl 9

5. Write short notes on: (any two) / 55l GTCa1s (@-CFICa 715)

(a) Materialist conception of history

oo™ &I Il
(b) Dictatorship of the proletariat
IRl @A TR

(c) Attitude of Communists to different opposition parties.

fafen Rea® neeTe &fe FRefEsre Trer|

(Practical and Environmental Ethics / T32fa& @3 «facat Sifsfm)

Answer Question No. 1 and any one from the rest within 600 words
S e € TR (A-(FIE G0 TR Ted Voo *THA N WS

1. Answer any two questions from the following within 150 words each:
fesfefis Q- 7fo e Tea ol seo *twa ey wies

(a) Distinguish between ‘Rights and Human Rights’. Are all Rights Human Rights?
PR GR MR TR W& 2L el et | 730 2w wiwiee & w1 wiEwiEs

Z

TIYE 7

(b) What do you mean by discrimination on the basis of Religion? Is it tenable from
the view point of Ethics?

(7S (SV-(A JET00 | @I 9 @l (77 F Tforeeim argeicaiay 2

(c) What do you mean by Voluntary Euthanasia? Is it morally admissible? Explain
fully.
e TSN FIE A 9 Afoes FEoNR) (WfeFeIE TR F= O HCeD
I

(d) Is there any argument in favour of morality of the preservation of Nature?

AFO(S T FAIF (AOFOI AACTF & (Il I ez 2

(e¢) What are the main differences between Liberal Feminism and Radical Feminism?

TIRe13] € TR AIRAICR S AL F S o

3089 9
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©)

(2

(h)

(@)

0)

(a)

(b)

3089

What are the arguments against Deep Ecology?

O AFOCE 0w el F o

What are the arguments in favour of suicide?

SR HICHF Yeafel F ol Srard I

Discuss whether there should be the moral status of the plants and trees.
B e (Afes vl it Bfbe f 9

Is terrorism ethically acceptable?

FERIm & (oo e o

Put forward the arguments against the discrimination on the basis of sex.

femtare (qAC07 ieta el Tozifre s

Distinguish between Killing, Suicide and Euthanasia. What are the different 3+12
forms of Euthanasia? Explain after Peter Singer.

]!, SILS]T QR FENTOTR ez AL fefa et Feeenzenia fifen worefa 1§ o

25T Tt Sepiael e SHICeIba] S |

What are the points of difference between Anthropocentrism and 15
Non-Anthropocentrism moral theories regarding environment?

TTR(F [ 8 A [ (O R Wy el Srad Tl

What do you mean by Human Rights? Discuss the main characteristics of Human 3+12
Rights.

ARITEI TeT00 S @RI 2 NI o1 @Ey e Siens= s

What are the ends and means of a war? Do you need any special set of moral 3+3+9
standards during war?

YA o) @ G 00 | @I 2 I0ad 7Y (& (PIeal [eeia oo wiawe elcaier 9

GROUP-B
(Full Marks-25)
er-4
(-2 €)

Write an essay on any one of the following topics of Indian Philosophy: 25x1 =25
(Within 1500 to 2000 words)

oo wim fAsfeite Ravefm i @-@iw 96 [Iee S oke @l
(€00 (AP 000 (A (X))

Pramana in Indian Philosophy

oo Wit 2wiel

Anekantavada vs. Syadvada
(TS I (W

10
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(c) I$vara in Indian Philosophy
(d) Nature of Abhava in Vai$esika and Mimansa Philosophy.
TR 8 SR e erefeas (g |

OR / 9i2=t

7. Write an essay on any one of the following topics of Western Philosophy: 25x1 =25
(Within 1500 to 2000 words)

pie) witme fAafiRe el i @-@E 936 [aem T Gee @
(€00 (ACF 000 M(IH ()

(a) Plato’s Theory of Knowledge
(RBIF TElog

(b) Place of God in the Philosophy of Descartes and Spinoza
TS ¢ Foitareta weite S

(c) Entailment theory vs. Constant Conjunction theory

fEeg I3 e 2= g

(d) Problem of metaphysics in Kantian Philosophy.
IO Tl wIfHfmg) Kere T
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